				Status											
			Total Responses	1.Employed in Major		2.Employed Out of Major		3.Cont Educ -Grac	_	4.Military Service		5.Not Seeking Employment			Not loyed
			N	N	%	N	%	N	%	N	%	N	%	N	%
College	Department	Major													
Agriculture & Applied Sciences	Ag, Geosciences, & Natural Res	Agricultural Business	78	42	53.85%	25	32.05%	4	5.13%	0	0	0	0	7	8.97%
		Agriculture (General)	41	30		3	7.32%	4	9.76%	<u> </u>	2.44%	0		3	7.32%
		Geoscience	4	2	50.00%	0	0	1	25.00%	0		0	0	1	25.00%
		Natural Resources Mgt	18	12	66.67%	4	22.22%	0	0	0	0	0	0	2	11.11%
		Veterinary Science & Technology	38	19	50.00%	1	2.63%	15	39.47%	0	0	1	2.63%	2	5.26%
		Dept Total	179	105	58.66%	33	18.44%	24	13.41%	1	0.56%	1	0.56%	15	8.38%
	Family and Consumer Sciences	Major													
		Family and Consumer Science	7	4	57.14%	1	14.29%	0	0		0	0		2	28.57%
		Dept Total	7	4	57.14%	1	14.29%	0	0	–	, i	0	0	2	
	College Total	_	186	109	58.60%	34	18.28%	24	12.90%	1	0.54%	1	0.54%	17	9.14%
Business & Global Affairs	Department	Major										·			
	Acct, Fin, Econ & Pol Sci	Accounting	18	14		0	0	3	16.67%	0		0		1	5.56%
		Economics	3	2	66.67%	0	0	0	0	<u> </u>		0	-	1	33.33%
		Finance	15	9	60.00%	2	13.33%	3	20.00%	0		0		1	6.67%
		International Studies	1	1	100.00%	0	0	0	0	⊢		0	-	0	0
		Political Science	11	3	27.27%	5	45.45%	3	27.27%	0		0	-	0	0
		Dept Total	48	29	60.42%	7	14.58%	9	18.75%	0	0	0	0	3	6.25%
	Mgmt, Mktg & Info Systems	Major													
		Information Systems	4	3		1	25.00%	0	0		0	0	0	0	
		Management	41	22		7	17.07%	8	19.51%	0		0	Ŭ	4	9.76%
		Marketing	13	6		5	38.46%	2	15.38%	0		0	0	0	0
		Dept Total	58	31	53.45%	13	22.41%	10	17.24%	0	0	0		4	6.90%
	College Total		106	60	56.60%	20	18.87%	19	17.92%	0	0	0	0	7	6.60%

(Continued)

				Status											
			Total Responses		1.Employed 2.Employed Out of Major			3.Continuing Education -Grad/Prof		4.Military Service		5.Not Seeking Employment			Not loyed
			N	N	%	N	%	N	%	N	%	N	%	N	%
College															İ
Education, Health & Behav Sci															
	Behavioral Sciences	Criminal Justice	20	5	25.00%	7	35.00%	5	25.00%	0	0	1	5.00%	2	10.00%
		Social Work	17	8	47.06%	3	17.65%	4	23.53%	0	0	0	0	2	11.76%
		Dept Total	37	13	35.14%	10	27.03%	9	24.32%	0	0	1	2.70%	4	10.81%
	Education, Health, & Beh Sci	Major													
		Interdisciplinary Studies	93	41	44.09%	32	34.41%	6	6.45%	0	0	6	6.45%	8	8.60%
		Dept Total	93	41	44.09%	32	34.41%	6	6.45%	0	0	6	6.45%	8	8.60%
	Educational Studies	Major													ĺ
		Integrated Studies	43	37	86.05%	3	6.98%	3	6.98%	0	0	0	0	0	0
		Secondary Education	6	5	83.33%	0	0	1	16.67%	0	0	0	0	0	0
		Dept Total	49	42	85.71%	3	6.12%	4	8.16%	0	0	0	0	0	0
	Health and Human Performance	Major													
		Health & Human Performance	55	25	45.45%	10	18.18%	12	21.82%	0	0	6	10.91%	2	3.64%
		Dept Total	55	25	45.45%	10	18.18%	12	21.82%	0	0	6	10.91%	2	3.64%
	Nursing	Major													
		Nursing	25	25	100.00%	0	0	0	0	0	0	0	0	0	0
		Dept Total	25	25	100.00%	0	0	0	0	0	0	0	0	0	0
	Psychology	Major													
		Psychology	18	9	50.00%	5	27.78%	2	11.11%	0	0	1	5.56%	1	5.56%
		Dept Total	18	9	50.00%	5	27.78%	2	11.11%	0	0	1	5.56%	1	5.56%
	College Total		277	155	55.96%	60	21.66%	33	11.91%	0	0	14	5.05%	15	5.42%

(Continued)

			Status												
			Total Responses	1.Employed in Major		2.Employed Out of Major		Educ	3.Continuing Education -Grad/Prof		4.Military Service		5.Not Seeking Employment		Not loyed
			N	N	%	N	%	N	%	N	%	N	%	N	%
College	Department	Major													
Engineering & Natural Sciences															
	Biological Sciences	Biology	18	4	22.22%	1	5.56%	10	55.56%	0	0	2	11.11%	1	5.56%
		Cell & Molecular Biology	4	0	0	0	0	1	25.00%	0	0	2	50.00%	1	25.00%
		Dept Total	22	4	18.18%	1	4.55%	11	50.00%	0	0	4	18.18%	2	9.09%
	Chemistry and Physics	Major													
		Chemistry	1	0	0	0	0	1	100.00%	0	0	0	0	0	0
		Dept Total	1	0	0	0	0	1	100.00%	0	0	0	0	0	0
	Computer Science	Major													
		Computer Science	14	7	50.00%	4	28.57%	1	7.14%	0	0	0	0	2	14.29%
		Dept Total	14	7	50.00%	4	28.57%	1	7.14%	0	0	0	0	2	14.29%
	Engineering	Major										1			
		Engineering	8	5	62.50%	0	0	2	25.00%	0	0	1	12.50%	0	0
		Mechanical Engineering	10	8	80.00%	1	10.00%	1	10.00%	0	0	0	0	0	0
		Dept Total	18	13	72.22%	1	5.56%	3	16.67%	0	0	1	5.56%	0	0
	College Total		55	24	43.64%	6	10.91%	16	29.09%	0	0	5	9.09%	4	7.27%
Humanities & Fine Arts	Department	Major													
	English & Modern Foreign Lang	English	5	0	0	2	40.00%	2	40.00%	0	0	0	0	1	20.00%
		Spanish	1	0	0	1	100.00%	0	0	0	0	0	0	0	0
		Dept Total	6	0	0	3	50.00%	2	33.33%	0	0	0	0	1	16.67%

(Continued)

				Status											
			Total Responses		1.Employed in Major		2.Employed Out of Major		B.Continuing Education -Grad/Prof		litary vice	5.Not Seeking Employment			Not loyed
			N	N	%	N	%	N	%	N	%	N	%	N	%
College	Department	Major													
Humanities & Fine Arts	History and Philosophy														
		History	1	1	100.00%	0	0	0	0	0	0	0	0	0	0
		Philosophy	1	0	0	1	100.00%	0	0	0	0	0	0	0	0
		Dept Total	2	1	50.00%	1	50.00%	0	0	0	0	0	0	0	0
	Mass Media & Strategic Comm	Major													
		Communications	3	2	66.67%	1	33.33%	0	0	0	0	0	0	0	0
		Mass Media & Strategic		_											
		Comm	11	7	63.64%	1	9.09%	3	27.27%			0	0	0	0
		Dept Total	14	9	64.29%	2	14.29%	3	21.43%	0	0	0	0	0	0
	Music	Major			00.070/		00 000/								
		Music (BAM)	6	4	66.67%	2	33.33%	0	0			0	0	0	0
		Music (BM)	7	3	42.86%	3	42.86%	1	14.29%	0		0	0	0	0
	\(\frac{1}{2}\)	Dept Total	13	7	53.85%	5	38.46%	1	7.69%	0	0	0	0	0	0
	Visual and Theatre Arts	Major													
		Art (BAA)	1	1	100.00%	0		0				0	0	0	0
		Fine & Perf Arts	8	2	25.00%	2	25.00%	1	12.50%	0		0	0		37.50%
		Dept Total	9	3	33.33%	2	22.22%	1	11.11%	0	0	0	0	3	33.33%
	College Total		44	20		13	29.55%	7	15.91%	0		0	0	4	9.09%
Total by Status			668	368	55.09%	133	19.91%	99	14.82%	1	0.15%	20	2.99%	47	7.04%